Stat 379 Homework 5




Due: Wednesday March 26, 2008

Consider the following: You’ve noticed in your own life that sometimes it feels good to just vent your frustrations on some unsuspecting friend. You also know that when something bad happens, you have to come to accept it and move on, or your mental health suffers. You wonder if venting and acceptance may also benefit cancer survivors' mental health up to a year after their primary treatment has ended. Specifically, you wonder if being able to vent about all of the stress involved with diagnosis, treatment, ongoing check-ups, and drug-side effects, as well as coming to accept the fact that cancer is part of their lives, have a unique benefit to mental health, over and above survivors’ general physical health.

You recruit 154 cancer survivors and give them standard measures of general physical health and how they cope with the stress of cancer (COPE; Acceptance and Venting subscales) and give them a standardized measure of overall mental health. Your primary hypothesis is that venting and acceptance as coping methods provide unique explanation of the variance in survivors’ mental health, over and above general health. First, though, you want to know if coping styles make a difference at all.

Using simultaneous regression, regress Mental Health (mcs12) on both Accept1 and Venting1.

1.
Is the regression model significant? How much variance in Mental Health is explained by the model?

2.
Are both predictors significant?

Ok, let’s find out if the two coping styles matter after controlling for General Health status (BTW, higher scores on General Health = worse health). Using sequential regression, enter General Health (gh1) in Block 1 and Acceptance and Venting in Block 2. (Hint: Click Statistics and ask for R square change).

3.
Is regression model 1 significant (i.e., does General Health matter)?

4.
What about model 2 (i.e., do the two coping styles together with General Health explain a significant amount of variance in Mental Health)?

5.
How much variance in Mental Health was explained by General Health?

6.
Did Acceptance and Venting contribute a significant amount of variance explained in Mental Health over and above Gen Health?


a.
How would you find out whether and how much additional variance is explained by Block 2? How much additional variance was explained by the two coping variables? Was that amount significant?


b.
What is the total R2 for the final model (at the final step)?

7.
Refer to your original hypothesis. Was it upheld? Interpret your findings.

8.
Now run the same regression model, except this time enter Acceptance and Venting in Block 1 and General Health in Block 2. How much variance explanation is added when Gen Health is entered, controlling for the two coping styles?

9.
Now regress Mental Health on our three predictors (General Health, Accept, and Vent) simultaneously. What is the difference between the results of this model and the results of the final step of the other two models you ran (that included all three predictors)?

Finally: For fun, you decide to find out if rich cancer survivors are more mentally healthy than those who are less financially well-off. You regress Mental Health on income (of course, you control for their general health status (gh1)).

10.
Income1 is a categorical variable with 3 levels. How are you going to recode this thing to make it work in regression? Be specific. (For the sake of time, I’ve created 3 variables (LowInc, MidInc, and HighInc); which doesn’t mean that you necessarily need them all.)

11.
What type of test did you run to answer your question? What variables were included? Does income matter? If so, how much?

